Joaqv
TTIN T73HS

H3

K H4

TAPER No.
L H1
G
FIG.2 _ /F
i N
T 1 — [Te} -
-iEEETRE slels & BT S
H2 H3
o\ oy H4
TAPER No.
L H1

Taper Coolant
MAS Accuracy System
- BT 403 AT3

ARl CODENo. |FIG. D L C1 C2 C3 M1 H2 B K G C4 C5 H3 H4 (ﬁg ]

BT30-SMA16-30 1 16 30 38 = — 17 — 8 3 M8 | 20 15 7 9 0.9
30 BT30-SMA22-30 1 22 30 42 = — 27 — 8 3.5 | M10 | 28 18 9 1 1.0
BT40-SMA16-60 1 16 60 38 - — 17 — 8 M8 | 20 15 7 9 1.3
BT40-SMA16-120 1 16 | 120 | 38 - — 17 — 8 M8 | 20 15 7 9 1.7
BT40-SMA22-60 1 22 60 42 - — 27 — 8 3.5 | M10 | 28 18 9 1 1.4
BT40-SMA22-120 1 22 | 120 | 42 - — 27 — 8 3.5 | M10 | 28 18 9 1 2.1
40 BT40-SMA27-45 2 27 45 50 - — 36 — 10 4 | M12| 33 23 10 12 1.4
BT40-SMA27-105 | 2 | 27 | 105 | 50 | — — |3 | - | 10| 4 [mM12| 33 | 23 | 10 | 12 | 23
BT40-SMA32-45 2 32 45 60 - — 38 — 10 | 4.5 | M16| 40 23 10 16 1.6
BT40-SMA32-75 2 32 75 60 - — 38 — 10 | 4.5 | M16| 40 23 10 16 | 2.3
BT40-SMA40-60 2 |40 | 60 | 80 | — | 28 | 38| 6 | 12| 5 |M20| 50 | 27 | 14 | 20 | 2.0
BT50-SMA16-75 1 16 75 38 - — 17 — 8 3 M8 | 20 15 7 9 4.2
BT50-SMA16-120 1 16 | 120 | 38 - — 17 — 8 3 M8 | 20 15 7 9 5.8
BT50-SMA22-75 1 22 75 42 - — 27 — 8 3.5 | M10 | 28 18 9 1 4.3
BT50-SMA22-120 1 | 22 | 120 42 | — - |27 | - 8 [35 M10| 28 | 18 | 9 | 11 | 48
BT50-SMA22-180 1 22 | 180 | 42 — — 27 — 8 3.5 M10| 28 18 9 1 5.5
BT50-SMA27-60 2 27 60 50 - — 36 — 10 4 | M12| 33 23 10 12 | 43
50 BT50-SMA27-105 | 2 | 27 |105| 50 | 60 | — | 36 | — | 10 | 4 |M12| 33 | 23 | 10 | 12 | 5.2
BT50-SMA27-150 | 2 | 27 | 150 | 50 | e0 | — | 36 | — | 10 | 4 |M12| 33 | 23 | 10 | 12 | 538
BT50-SMA32-45 2 32 | 45 | 60 - 24 | 38 6 10 | 45 |M16| 40 | 23 10 16 | 4.2
BT50-SMA32-75 2 |32 |75 |60 | 70 | 24 | 38 | 6 | 10 | 45 |M16| 40 | 23 | 10 | 16 | 5.2
BT50-SMA32-105 2 32 | 105 | 60 | 70 | 24 | 38 6 10 | 45 |M16| 40 | 23 10 16 | 6.2
BT50-SMA40-45 2 40 | 45 | 80 - 28 | 38 6 12 5 |M20| 50 | 27 14 | 20 | 43
BT50-SMA40-75 2 |40 |75 |80 | — |28 |38 | 6 | 12| 5 |M20| 50 | 27 | 14 | 20 | 55

TYPE KEY KEY BOLT MOUNTING BOLT

SMA 16 w8 M3x 8 MB 8

SPARE SMA 22 W10 M4 <10 MB10

PARTS SMA 27 w12 M5 x 12 MB12

SMA 32 W14 M6 < 16 MB16

SMA 40 W16 M6 < 16 MB20

SSK TOOLING SYSTEM ZEIKEN , 73>

TEL:+82 32 818 2617, FAX:+82 32 819 2617, www.ssktool.co.kr



(SH

% -
fJJ

D2

TAPER NO. H
[DIN69893] m
-HSK AT3
TAPER No. CODE No. D1 D2 L H S (KG) by

HSK40A-SMA16-50 16 32 50 17 0.40
40A HSK40A-SMA22-50 22 40 50 19 0.50
HSK40A-SMA27-60 27 48 60 21 0.60
HSK 50A-SMA16-50 16 38 50 17 0.50
HSK 50A-SMA22-60 22 48 60 19 0.57
50A HSK 50A-SMA27-60 27 58 60 21 0.75
HSK 50A-SMA32-60 32 63 60 24 0.90

HSK 63A-SMA16-50 16 38 50 17 0.81
HSK 63A-SMA22-50 22 48 50 19 0.93
63A HSK 63A-SMA27-60 27 58 60 21 1.22
HSK 63A-SMA32-60 32 78 60 24 1.46
HSK 63A-SMA40-60 40 88 60 27 1.80
HSK100A-SMA16-50 16 38 50 17 2.14
HSK100A-SMA22-50 22 48 50 19 2.25
HSK100A-SMA27-50 27 58 50 21 2.40
1004 HSK100A-SMA32-50 32 78 50 24 2.60
HSK100A-SMA40-60 40 88 60 27 3.25
HSK100A-SMA50-70 50 129 70 30 5.40

TYPE KEY KEY BOLT MOUNTING BOLT

SMA 16 ws M3x 8 MB 8

SPARE SMA 22 w10 M4 x 10 MB10

PARTS SMA 27 W12 M5 x 12 MB12

SMA 32 w14 M6 < 16 MB16

SMA 40 w16 M6 < 16 MB20

SSK TOOLING SYSTEM ZEIKEN
TEL:+82 32 818 2617, FAX:+82 32 819 2617, www.ssktool.co.kr

-133

SHELL MILL
ARBOR



Joqiv
TTIN T73HS

i+ ety e
11
TAPER No. :U:U: H
Taper Coolant
I \[SL YA N I Accuracy System
S
B STANDARD
TAPER No. CODE No. D1 D2 L H 2 (KG) XH o
SK30-SMA16-50 16 32 50 17 0.85
30 SK30-SMA22-50 22 40 50 19 0.90
SK30-SMA27-50 27 48 50 21 1.03
SK40-SMA16-60 16 32 60 17 0.35
SK40-SMA22-60 22 40 60 19 1.45
40 SK40-SMA27-60 27 48 60 21 1.70
SK40-SMA32-60 32 58 60 24 1.80
SK40-SMA40-60 40 70 60 27 3.10
SK50-SMA16-75 16 32 75 17 2.80
SK50-SMA22-75 22 40 75 19 3.10
SK50-SMA27-75 27 48 75 21 3.40
50 SK50-SMA32-75 32 58 75 24 3.80
SK50-SMA40-75 40 70 75 27 4.50
SK50-SMA50-75 50 90 75 30 5.90
W EXTENDED
TAPER No. CODE No. D1 D2 L H B2 (KG) by
SK40-SMA16-120 16 32 120 17 1.70
SK40-SMA22-120 22 40 120 19 1.80
40 SK40-SMA27-120 27 48 120 21 2.40
SK40-SMA32-120 32 58 120 24 3.70
SK50-SMA16-120 16 32 120 17 3.90
SK50-SMA22-120 22 40 120 19 4.40
50 SK50-SMA27-120 27 48 120 21 4.70
SK50-SMA32-120 32 58 120 24 5.00
SK50-SMA40-120 40 70 120 27 6.05

SSK TOOLING SYSTEM ZEIKEN
TEL:+82 32 818 2617, FAX:+82 32 819 2617, www.ssktool.co.kr

- 134



KEY-FACE MILL ARBOR &

D1
| | ‘
T T
I i i ‘ <
‘ Z X
@1 - /i \
i i
L
D2
oA w K L D1 D2 A =2 ARBOR =2 (KG) Mz
8x7x12.8 8 7 12.8 5.8 3.2 3.2 SMA16
10x7.8x15.5 10 7.8 15.5 7.5 4.2 4.3 SMA22
9.52<9.52x10.2 9.52 9.52 10.2 7.5 4.5 5.2 FMA25.4 / FMB25.4
9.5x12x 11 9.5 12 11 7.5 4.2 5 FMC25.4
12x9x18.5 12 9 18.5 9 5.3 55 SMA27
10 <10 < 11 10 10 11 7.5 4.2 5 FMC22
14X11.5x20.5 14 11.5 20.5 10.5 6.5 6.5 SMA32
12x13%x18 12 13 18 9 5.3 8 FMB27 / FMC27
16 X13.5x23.5 16 13.5 23.5 10.5 6.5 6.5 SMA40
12.7 X12.7 X12.7 12.7 12.7 12.7 7.5 4.5 5.2 FMA31.75
15.87 <X 15.87 X18.5 15.87 15.87 18.5 10.3 6.6 7.5 FMA38.1 / FMB40 / FMB40F
14X 15% 20 14 15 20 10.5 6.3 8 FMC32
18 X 18 X 28.5 18 18 28.5 10.5 6.5 10 SMA50
19X 18 X 22 19 18 22 10.5 6.3 7 FMA50.8
(=1 A=
028 SE (MOUNTING BOLT)-MB
Thread "M"
| 4
0 |1 I N O I R E
A_|B
T3 M D D1 L A B w =2 ARBOR =2 (KG) .
MB38 8X1.25 20 15 23 7 2 6 SMA16
MB10 10X1.5 28 18 29 9 2 8 SMA22
MB12 12x1.75 33 23 32 10 2 10 SMA27 /| FMB27 /| FMA25.4
MB16 16%x2.0 40 23 42 10 6 12 SMA32 / FMA3.1.75
MB20 20x25 50 27 54 14 6 14 SMA40 / FMA38.1 / FMB40 / FMB40F
MB24 24 x<3.0 65 37 62 14 10 17 FMA50.8

SSK TOOLING SYSTEM ZEIKEN
TEL:+82 32 818 2617, FAX:+82 32 819 2617, www.ssktool.co.kr

-135

SHELL MILL
ARBOR





